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1. (a) What is the difference between Actual Parameter and formal parameter? Give an Example in C++ to illustrate both types of parameters.






.
1

(b) Name the header files that shall be needed for successful compilation of the following C++ code.

void main()

{

 char word[]=”school”;

cout<<setw(20)<<word;}m






.
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(c) Rewrite the following code after removing the syntactical error(s) if any. Underline each correction.

#include<iostream.h>
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#include<stdio.h>

Class MyStudent

{

int StudentId=1001;

char Name[20];

public:

MyStudent(){}

void Register()

{

 cin>>StudentId;

gets(Name);

}

void Display()

{

cout<<StudentId<<”:”<<Name<<endl;

}

};

(d) Find the output of the following program
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#include<iostream.h>

#include<ctype.h>

void main()

{

 char string1[]=”Mind@Work!”;

for(int i=0;string1[i]!=’\0’;i++)

{

 if(!isalpha(string1[i]))

  string1[i]=’*’;

else if (isupper(string1[i]))

 string1[i]=string1[i]+1;

else

string1[i]=string1[i+1];

}

cout<<string1;

}

(e) find the output of the following program:
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 #include<iostream.h>

void main()

{

  int a=10,b=20;

for(int i=1;i<=2;i++)

{

 cout<<”Line1=”<<a++<<”&”<<b-3<<,endl;

cout<<”Line2=”<<++b<<”&”<<a+4<<endl;

}

}

(f) In the following c++ program , find the correct possible output(s) from the options;

2

#include<iostream.h>

#include<stdlib.h>

void main()

{

 randomize();

char area[][10]={“NORTH”,”SOUTH”,”EAST”,”WEST”};

int x;

for(int i=0;i<3;i++)

{

 x=random(2)+1;

cout<<area[x]<<”:”;

}

}

outputs:

(i) 
NORTH:SOUTH:EAST

(ii)
SOUTH:EAST:WEST

(iii)
SOUTH:EAST:EAST

(iv)
SOUTH:EAST:SOUTH

2.

(a) What is this pointer ?Give an example to illustrate the use of it in C++.
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(b) what is a copy constructor? What do you understand by constructor overloading ?


2

Answer the questions (i) and (ii) after going through the following  class.  

class code

{

int id;

public:

code(){ } 

code( int  a ){ id = a ;} 



// function 1

code(code &x);




// function  2

~code(){ cout<<”\n over “;} 


//function 3

};   

i) Which category of constructor - Function 1  and Function3 belongs to and what is the purpose of using it?

ii) Write complete definition for function 2 .

(c) Define a class clothing in C++ with following description:
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private member



code of type string
type of type string
size of type integer

material of type string

price of type float

a member function calc_price() which calculates and assign the value of price as follows:
for the value of material as “COTTON”:

Type





Price(Rs.)

TROUSER




1500

SHIRT





1200

FOR material other than “COTTON” the above mentioned price get reduced by 25%.


public members

· A constructor to assign initial values of code,type and material with the word “NOT ASSIGNED” and size and price with 0.
· A function Enter() to input values of the data members code,type,size and material and invoke the calc_price function.
· A function show() which display the content of all the data members for a clothing.
(d) Answer the questions (i) to (iv) based on the following code
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class Toys
{


char Ticode[5];

protected:


float price;


void Assign(float);

public:



Toys();



void Tentry();



void Tdisplay();

};

class Softtoys : public Toys
{


char stname[20];

float weight;


public:



Softtoys();



void Stentry();



void Stdisplay();
};

class Electronictoys : public Toys
{


char Etname[20];


int no_of_batteries;


public:



Electronictoys();



Void Etentry();



Void Etdisplay();

};

(i) Which type of Inheritance is shown in the above example.?
(ii) How many bytes will be required by an object of the class Softtoys?.

(iii) Write name of all the data members accessible from member functions of the class Softtoys..

(iv) Write name of all the member functions accessible by an object of the class Electronictoys.
(3) (a) write a function in C++ which accepts an integer array and its size as parameters and rearrange the array in reverse. Example: if an array of nine elements initially contain the elements as
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4,2,5,1,6,7,8,12,10
then the function should rearrange the array as


10,12,8,7,6,1,5,2,4
(b) An array S[40][30] is stored in the memory along the row with each of the element occupying 2 bytes, find out the memory location for the element S[20][10],if the Base Address of the array is 5000.

4

(c) Write a function in C++ to delete an element into a dynamically allocated queue where each node containing a real number as data.
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Assume the following definition of MYNODE for the same:

Struct MYNODE

{

float NUM;

MYNODE *next;

};

(d) Write a function merge of type void which merge two given array in ascending order and result will also getting in ascending order..
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(e) convert the infix notation into postfix notation
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(A^B-C)+(D/E-F+G)

(f) Evaluate the following postfix notation of expression:
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20, 30, +, 50, 40, - ,*
(4)

(a) Observe the program segment given below carefully and fill the blanks marked as statement1 and statement2 using seekg() and tellg() function for the required task.
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#include<fstream.h>

class employee

{

 int eno;

 char ename[20];

 public:

 int countrec();



//function to count the total no of records

};

int item::countrec()

{

 fstream f1;

f1.open(‘emp.dat”,ios::binary|ios::in);

_____________________________


//statement1

int bytes= _____________________


//statement2

int count=bytes/sizeof(employee);

f1.close();

return count;

}

(b) Write a function in C++ to count the number of lines started by the vowel characters.


2

(c) Given a binary file sports.dat , containing records of the following structure of the following structure type:
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struct sports

{

 char event[20];

 char eventplace[10[[30];

};

write a function in C++ that would read contents from the file sports.dat and creates a file named athelitic.dat copying only those records from sports.dat where the eventplace is “jaipur”.

5. (a) Define the following


(i) Candidate key

(ii) Foreign key
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(b) Consider the following tables. Write SQL commands for the statements (i) to (iv) and give outputs for SQL queries (v) to (viii)

Table:PRODUCT
	P-ID
	PRODUCTNAME
	MANUFACTURER
	PRICE

	TP01
	Talcom Powder
	LAK
	40

	FW05
	Face Wash
	ABC
	45

	BS01
	Bath soap
	ABC
	55

	SH06
	Shampoo
	XYZ
	120

	FW12
	Face Wash
	XYZ
	95


Table:CLIENT
	C_ID
	CLIENTNAME
	P_ID
	CITY

	01
	Cosmetic Soap
	FW05
	Delhi

	06
	Total Health
	BS01
	Mumbai

	12
	Live life
	SH06
	Delhi

	15
	Pretty Woman
	FW12
	Delhi

	16
	Dreams
	TP01
	Banglore


(i) To display the details of those clients whose city is Delhi.
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(ii) To display the details od the Products whose price is in the range of 50 to 100 (Both values included)
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(iii) To display the Clientname,city from table client and Productname and price from table product, with their corresponding matching P_ID.
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(iv) To increase the price of all products by 10.
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(v) SELECT Distinct City from client;







½

(vi) SELECT Manufacturer ,Max(price),Min(price),count(*) from product group by manufacturer.
½

(vii) SELECT clientname,manufacturer from product,client where client.p_id=product.p_id;
½

(viii) SELECT productname,price*4 from product;






½

6. (a) State and verify the Demorgan’s law in Boolean Algebra.
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(b) Draw a logical circuit diagram for the following Boolean expression:
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A.(B + C1)

(c) Write the expression in pos form








1

	A
	B
	C
	Y

	0
	0
	0
	0

	0
	0
	1
	1

	0
	1
	0
	1

	0
	1
	1
	0

	1
	0
	0
	0

	1
	0
	1
	1

	1
	1
	0
	0

	1
	1
	1
	1


(d) Reduce the following Boolean expression using K-map
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f(p,q,r,s)= (0,1,2,4,5,8,9,10,11)

(e) Draw the logic circuit of AND gate using only NOR gate.
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7 (a) Explain the function of Modem and Switch
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(b) Expand the following term
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I. WLL

II. XML

III. PPP

IV. GSM

(c) Differentiate between Hackers and Crackers?
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(d) Agrawal switchgears ltd in Assam  is setting up the network between its different departments located in different wings. There are 4 wings named as Manufacturing (M), Research(R), Administration(A) and Personnel(P) .

Distance between various wings are given below:

	Wing A to Wing M
	100m

	Wing A to Wing R
	200m

	Wing A to Wing P
	400m

	Wing M to Wing R
	300m

	Wing M to Wing P
	100m

	Wing R to Wing P
	450m


Number of computers

	Wing M
	15

	Wing R
	100

	Wing A 
	50

	Wing P
	150


(i) Suggest a suitable topology for networking the computers of all wings.


1/2
(ii) Name the wing where the server is to be installed. Justify your answer.


1/2
(iii) Suggest the placement of Hub/Switch in the network.




1/2
(iv) Mention an economic technology to provide the internet accessibility to all wings.

1/2
(e) What do you mean by Spam Mails? How can you protect your mailbox from Spams?


1
(f) Mention any two advantages of Open Source Software over Proprietary Software.

1
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